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SUMMATIVE ASSESSMENT - 1, 2012

graTsteR fagT / SOCIAL SCIENCE SS1-026

el - IX/ Class - IX

fuifa wu : 3 gue Jfereraw i : 90
Time allowed : 3 hours Maximum Marks : 90
amAr fdor :

TH U T H §9 31 A S | Teh U Sifard T

T A% 1 9 10 T Ig[ahedid Ue & | Yedsh Y9 1 3{eh &I T

TR I 11 T 22 T Toeh YT 3 3k I T TTH | Tcdoh U9 o1 S 80 I1eal § A4k &l 311
18T |

T Sl 23 § 30 T Y U 5 3{eh BT &1 TTH U Y T I W 120 I1eai T Afesh T2
ST =18 |

T% ShHIh 31 hadl I § AFfaS el 4 31k o1 799 €1 AFfeH W IW foaed & a5 s6en
ST T YRR o 3T 1@ L A4 T |

General Instructions:

(@)
(i)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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‘AT higae S T fohe Tt ?

(@) NIED

(b)y '

(© e RIS

(d) AR

Who wrote the book “The Social Contract’ ?
(@) Locke

(b) Rousseau
(c) Olympe de Gouges
(d) Montesquieu

frefafea § 4 o gegial & <= o i g8 =R fean s oar?
() I, TR AT QI SR

(b) I, TR qeA ST STELRT

(@) STHRISRT, TIRTET QM &1 ST

(d) I, TR e B

The Triangular slave trade was prevalent between which of the following

continents ?

(@) Europe, Africa and the Americas
(b) Europe, Asia and the Americas
(@) Africa, Asia and the Americas
(d) Europe, Asia and Africa

frafafea o 9 forg <9 o1 THW 9RG & Y 78 ot 2

()  IREIH (b) ST

( = (d) ST

Which one of the following countries does not share land boundary with India ?
(@) Pakistan (b) Afghanistan

() China (d) Tajikistan

frefafea § @ &9 @t 7, Mm% g 7€ T &2

(@) I (b) =
() = (d) =

Which among the following is not a tributary of river Ganga ?
(@) Yamuna (b) Ghaghara

() Gandak (d) Beas

frefafiad § 9 %9 o1 %, o % Tyefa gearer e & 9§ w9l § 2
(a) 9% Al gRI faifead SRR 1 giga o

(b) & faffad TR 1 ae e

() T8 Wed SHIGRI T Sa1 ot & TRl il o1 |

Page 3 of 8



(d) T8 I9 9RO 3IR = off 39 1 A S o

Which one of the following facts is true about Salvadar Allende, the President of
Chile?

(@) He led a government elected by the people.

b) He overthrew the elected government.

C) He was always helping the land lords and the rich.

d) He was pro-church and the church supported him.

(
(
(

Urie 1 gAEfee Tehy et foRd YR @t dret off 2

(a)  eRdifrR e

(b)  HFETE e

()  ScREwE! 9

(d)  wfgardt e

The Poland United Worker’s Party was a :
(@) Democratic Party

(b) Communist Party
(@) Liberal Party
(d) Conservative Party

5T T2 1 IS TR ¥ &I BT, SH 9 hed € 2

(@) Y Y

(b) kAR T

() Uy fRus T

(d)  TTOIER T

When a state does not have any official religion, it is called a :
(a) sovereign state

(b) democratic state

(c) secular state

(d) republican state

frfafed & & ®iF Frvia Ysit 1 3R & ?

(a) e HIA TG €

(b) SR e I

(€ ff e gfe

(d) W qe1 SieR

Which of the following is an examples of working capital?
(@) Raw Material and Money

b) Tools and Buildings

c

) Land and Labours

(
(
(d) Machines and Tools

qRA o TorE v § A1 T To SISTIRI Toh G o1d © ?

() T Es o
(b) TR & |
() el
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10.

11.

11.

12.

12.

13.

14.

15.

(d) @i H

Seasonal and disguised unemployment is very common in which parts of India ?
(@) Rural areas

b) Urban areas

C) Metropolitan cities

d) Coastal areas.

(
(
(
freAfafed § & SF 91 o IRA & e greel &5 & IR I § 2

@) T we Al fopd! e & fae ar g 2 |

(b)  TER TEF il A1 YT e glaael o uge § guR O § )

() T TR H guR @ wefhehdr 78 7

(d)  9RA H A @ Giag T8l &l SHe % fau 9 g

Which one of the following statements is TRUE about health sector in India ?

(a) A healthy person becomes a liability for an organisation

(b) Our National Policy aims at improving the accessibility of health care

(@) Improvement of health status is not a priority

(d) The present health structure available in India is sufficient for its
population.

Y& 3TaT A1 T Tk S GHSEeal 1 Amfesh oW (FRisTRfea) g g
AT IS |

Explain the vision of the Socialists like Robert Owen and Louis Blanc regarding
cooperatives.

379187 /OR
ATHTETE o SR H WIH ST shi 511 Ficfsha off ?

How did the common people react to Nazism ?

1917 %! ® ifd % wR=q Serifaen gRI o T fegl 3 aRedl 1 Sed it |
Mention any three changes that the Bolsheviks brought in Russia after 1917
Revolution.

31YdT /OR
el R fohdl T HeTee® <Rl Beiiehiee <l sl T o1 7 SATEAT Shifor |

Why were the Nazi Killing Operations called the Holocaust ? Explain.

fova & 31T <M o 1Y 9RA & Y- WN qT AR g F5El 4 qRd o SAaR 990
Thfa o 8 anrem foan ?

How did India’s land and maritime contacts with the world contribute to its
trade and culture? Explain

S TR & SR ferTer™ geld &t o TR J@ensii sl J0H il |
‘In its longitudinal extent the Himalayas consist of three parallel ranges’.
Describe all the three ranges.

yEfgda vRd, fore weiAae g9 § fafifa 87 59 v # it S 6 A
fefEw |

Which oldest landmass constitute peninsular India ? Name the countries which
comprised this landmass.

1+2=3

3x1=3

1+2=3

1x3=3

3x1=3

172+1=3
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16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

25.

fewreret At qen wrafgHia el § i @ S T Hife |
Give any three points of distinction between the Himalayan and the Peninsular
rivers.

SR ATTET fuAmT |, faet o dfes aEmemet e St T 4Er TR YRR & 2
How did General Augusto Pinochet establish military dictatorship in Chile ?

SRS IR < S alel Jhea™ hl Siiehdieh 91 81 hal ST Hehdl 7 T
Hiferg

Why can’t Pakistan under General Musharaf be called a democracy? Explain.

<fequT SAhehT o STl H fohd WehR TS o foreg Terd fopan 2
How did the Blacks of South Africa fight against the apartheid system ?

YR HY & T3 ek ol Teed ford Tl o fohaml 3 w2 ford 2 smffrer i
1 &2 3 formmn fafay)

In which states was the modern farming method tried out first by the farmers ?
State any wo features. Modern farming method.

TN 1R Ster # 31811 1 RN Heel § 2

Explain the importance of education in our day to day life.

Afgensli 1 w0 aRefas ae wMl § =6 g e S €7 ®E @9 SR wy
SHITSTT |

Why are women employed in low paid work ? State any three reasons.

JeER & THR 7 fohe YR WEE THS i U &l = fwa? ®E 1=
Y™ T HifU|

How did Robespierre government ensure equality in the French Society ?
Explain any five measures.

! hifd o TvErd, SRR S 9EId 7 fRE YRR Wi % ok Siad @ a9gd
A 7 SRAT Hi |

How did the abolition of censorship change lives of people in France after the
French revolution ? Explain.

Yo fava Ig o hROT & ok ITFN W I GHE! 1 J0H HIIT |
Describe the impact of First World War on the industries in Russia.
AYAT /OR
‘wom ford g5 7 I U e TSHIG W TR YN Brel 811 39 e H AR
I |

The First World War left a deep imprint on the European Society and polity’.
Elaborate the given statement.

3x1=3

1+2=3

3x1=3

3x1=3

1+2=3

5x1=5

5x1=5

5x1=5

5x1=5

3+3=5
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26.

27.

28.

29.

30.

31.

gfee = qen gefl = H Sfal g Sifs |
Differentiate between the Western Ghats and the Eastern Ghats.
ARSI TR 3T YhR i THR § I8l F1 AT Sl © 2 Tl 9 HRol 5l

Y HIfT |

Why is a democratic government considered better than other forms of
government ? Explain any five reasons.

Hfgem =t aftam fafge | & STt STavashar i Usdl § 2 T i)

Define constitution. Why do we need it ? Explain.

IcUTEH T T ST FT ¥ 7 IAUIE h AR HRebi hi SAAT SHISIT |

What is the main aim of production ? Explain the four factors of production.
‘ST o TR TR W GUR A AR U Wit €11 TRl o Sugea aehl 5|
39 HeF 1 g9 FIfST |

“Improvement in the health status of the population is our national priority”.
Support the statement with any five suitable arguments.
()  feugE 9rd & TsHifs YEmEE 3 (A) 3R (B) W & werw fafed ford e
€1 = < TR SRR o STER W3 Aerl i uee R qEt 4 & fafed
TS W SR et M ferfe |
(A) T TEd it
(B) A ol THIHT S-S sfie ATl & i |
(i) 9 AEfes W & fafafed w1 Sugaa dondl g1 S9isd Ud 3T We A
e |
(© T wIfe
(D) e A
(i) Two features (A) and (B) are shown in the given political outline map of
India. Identify these features with the help of following information and
write their correct names on the lines marked on the map.
(A) A mountain range
(B) The Latitude that divides India into almost two equal parts.
(if) On the same political outline map of India, locate and label the following
items with appropriate symbols.
© Khasi Hills
(D)  Kolleru Lake
Fie : Fafafed yea Faa gfvenfua aftenfal & fag ge s 31 % T W )
(31.1) SREe qad q91 Hed IAYH * o= Feora geiadon 1 94 fafaw |
(31.2) WA <kl SIS Q1 RN H died STefl S7&7191 1@ Rl 14 Fd1gy |
(31.3) Ufe=wt T2 & ST WNT HI 941 TH 2
(31.4) TR R Sifeen weifeat fora o # feor €2
Note : The following questions are is for the visually impaired candidates only in
lieu of Q.No. 31.
(31.1) Name the mountain range lying between Aravali Hills and the Central
Highlands.
(31.2) Name the Latitude that divides India into almost two equal halves.

(31.3) What is the name of the northern part of the Western Coast ?
(31.4) Garo and Jaintia hills are situated in which state ?

5x1=5

5x1=5

1+4=5

1+4=5

5x1=5

2+2=4

4x1=4
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Q.No.-31

Map for
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